

SOME INEQUALITIES INVOLVING GENERALIZED HYPERGEOMETRIC FUNCTIONS VIA DISCRETE JENSEN'S TYPE INEQUALITIES

MUSTAPHA RAÏSSOULI AND MOHAMED CHERGUI

Received 23 January, 2023

Abstract. Recently, an enormous amount of effort has been devoted to extending the gamma and beta functions because of their nice properties and interesting applications. The contribution of this paper falls within this framework. We devote our attention here to investigate some approximations for a class of Gauss hypergeometric functions by the use of some discrete Jensen's type inequalities.

2010 Mathematics Subject Classification: 33C05; 33C15; 33C99

Keywords: confluent hypergeometric function, generalized Gauss hypergeometric function, Jensen's inequality

1. INTRODUCTION

In various areas of applied mathematics, several types of special functions become essential tools for scientists and engineers. For instance, we cite the gamma and beta functions that are very useful in modeling many phenomena arising in mathematical physics, probability theory, information theory and so on. Thus, many researchers have been interested by generalizing and extending these special functions, as we can find in a wide bibliography as for instance in [2,3,6-10] and in the related references cited therein.

In the current work, we are interested in giving further approximations for some classes of these generalizations. So, we will provide an overview on some generalized Gauss hypergeometric functions that will be used. We begin by recalling the Gauss hypergeometric function (GHF) that was defined in [9, p.1]

$${}_{2}F_{1}(a,b;c;z) := \sum_{n=0}^{\infty} \frac{(a)_{n}(b)_{n}}{(c)_{n}} \frac{z^{n}}{n!}, \ \Re e(a) > 0, \ \Re e(b) > 0, \ \Re e(c) > 0, \ (1.1)$$

© 2025 The Author(s). Published by Miskolc University Press. This is an open access article under the license CC BY 4.0.

M. RAÏSSOULI AND M. CHERGUI

provided that this series is convergent. Here, the notation $(\lambda)_n$, for $\Re e(\lambda) > 0$, refers to the Pochhammer symbol defined by

$$(\lambda)_n := \lambda(\lambda+1)...(\lambda+n-1) = \frac{\Gamma(\lambda+n)}{\Gamma(\lambda)}$$
 and $(\lambda)_0 = 1$,

where $\Gamma(x) := \int_0^\infty t^{x-1} e^{-t} dt$, $\Re e(x) > 0$, is the standard gamma function.

The (GHF) can be written in terms of the classical beta function as follows [3]

$${}_{2}F_{1}(a,b;c;z) := \frac{1}{B(b,c-b)} \sum_{n=0}^{\infty} (a)_{n} B(b+n,c-b) \frac{z^{n}}{n!},$$
(1.2)

provided that $0 < \Re e(b) < \Re e(c)$, where $B(x,y) := \int_0^1 t^{x-1} (1-t)^{y-1} dt$, $\Re e(x) > 0$, $\Re e(y) > 0$, is the standard beta function. The formula (1.2) was deduced from the following integral representation, [9, p.20]

$${}_{2}F_{1}(a,b;c;z) = \frac{1}{B(b,c-b)} \int_{0}^{1} t^{b-1} (1-t)^{c-b-1} (1-zt)^{-a} \,\mathrm{d}t, \ |z| \le 1.$$
(1.3)

The confluent hypergeometric function (CHF), also called Kummer's function, was defined in [4] by the following formula

$${}_{1}F_{1}(b;c;z) := \sum_{n=0}^{\infty} \frac{(b)_{n}}{(c)_{n}} \frac{z^{n}}{n!}, \ \Re e(b) > 0, \ \Re e(c) > 0,$$
(1.4)

provided that this series is convergent. It can be written in terms of the classical beta function as follows [1, p.504]

$${}_{1}F_{1}(b;c;z) = \frac{1}{B(b,c-b)} \sum_{n=0}^{\infty} B(b+n,c-b) \frac{z^{n}}{n!}, \ 0 < \Re e(b) < \Re e(c).$$
(1.5)

In integral form we have, [6]

$${}_{1}F_{1}(b;c;z) = \frac{1}{B(b,c-b)} \int_{0}^{1} u^{b-1} (1-u)^{c-b-1} e^{zu} \,\mathrm{d}u.$$
(1.6)

The extension of Euler's beta function given by Chaudhy et al. in [2] has motivated Özergin et al. to introduce in [6] the following generalized beta function

$$B_p^{(\alpha,\beta)}(x,y) := \int_0^1 t^{x-1} (1-t)^{y-1} {}_1F_1\left(\alpha;\beta;\frac{-p}{t(1-t)}\right) \mathrm{d}t,\tag{1.7}$$

where $\Re e(\alpha) > 0$, $\Re e(\beta) > 0$, $\Re e(p) > 0$.

Based on (1.7), Özergin et al. defined in [6] the generalized Gauss hypergeometric function (GGHF) and the generalized confluent hypergeometric function (GCHF), respectively, as follows

$${}_{2}F_{1}^{(\alpha,\beta;p)}(a,b;c;z) := \frac{1}{B(b,c-b)} \sum_{n=0}^{\infty} (a)_{n} B_{p}^{(\alpha,\beta)}(b+n,c-b) \frac{z^{n}}{n!}, \qquad (1.8)$$

$${}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z) := \frac{1}{B(b,c-b)} \sum_{n=0}^{\infty} B_{p}^{(\alpha,\beta)}(b+n,c-b) \frac{z^{n}}{n!}.$$
 (1.9)

It is clear that

$$_{2}F_{1}^{(\alpha,\beta;0)}(a,b;c;z) = _{2}F_{1}(a,b;c;z) \text{ and } _{1}F_{1}^{(\alpha,\beta;0)}(b;c;z) = _{1}F_{1}(b;c;z).$$
 (1.10)

In [6], the authors gave integral representations of (GGHF) and (GCHF) as follows

$$_{2}F_{1}^{(\alpha,\beta;p)}(a,b;c;z)$$
 (1.11)

$$= \frac{1}{B(b,c-b)} \times \int_0^1 t^{b-1} (1-t)^{c-b-1} (1-zt)^{-a} {}_1F_1\left(\alpha;\beta;\frac{-p}{t(1-t)}\right) dt, \ |z| \le 1,$$

$$F_1^{(\alpha,\beta;p)}(b;c;z) \tag{1.12}$$

$${}_{1}F_{1}^{(\alpha,p,p)}(b;c;z) = \frac{1}{B(b,c-b)} \times \int_{0}^{1} t^{b-1} (1-t)^{c-b-1} e^{zt} {}_{1}F_{1}\left(\alpha;\beta;\frac{-p}{t(1-t)}\right) dt.$$

The fundamental goal of this paper is to state some inequalities concerning the special functions evoked above by the use of discrete Jensen's type inequalities.

2. STATEMENT OF MAIN RESULTS

To establish our main results, we will need the following lemma which concerns the so-called discrete Jensen's inequality [5, p.6].

Lemma 1. Let I be a nonempty interval of \mathbb{R} and let $f: I \longrightarrow \mathbb{R}$ be a convex function. For any $x_0, x_1, x_2, \ldots, x_n \in I$ and $m_0, m_1, m_2, \ldots, m_n \ge 0$, with $\sum_{k=0}^n m_k > 0$, we have

$$f\left(\frac{\sum_{k=0}^{n} m_k x_k}{\sum_{k=0}^{n} m_k}\right) \le \frac{\sum_{k=0}^{n} m_k f(x_k)}{\sum_{k=0}^{n} m_k}.$$
(2.1)

If f is concave then inequality (2.1) is reversed.

Our first main result reads as follows.

Theorem 1. Let $\alpha > 0, \beta > 0, 0 < b < c, z_1 > 0$ and $z_2 \in \mathbb{R}$. Then the following inequality

$$\left({}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{1}z_{2})\right)^{r} \leq {}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{1}^{r}z_{2}) \times \left({}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{2})\right)^{r-1}$$
(2.2)

holds for any $r \in (-\infty, 0] \cup [1, \infty)$. In particular, we have

$$\left({}_{1}F_{1}(b;c;z_{1}z_{2})\right)^{r} \leq {}_{1}F_{1}(b;c;z_{1}^{r}z_{2}) \times \left({}_{1}F_{1}(b;c;z_{2})\right)^{r-1}.$$
 (2.3)

If $r \in [0, 1]$ then (2.2) and (2.3) are reversed.

M. RAÏSSOULI AND M. CHERGUI

Proof. We consider the following positive sequences

$$x_k = z_1^k \text{ and } m_k = B_p^{(\alpha,\beta)}(b+k,c-b)\frac{z_2^k}{k!}, \ k \ge 0,$$

and the function f defined on $(0, +\infty)$ by $f(t) = t^r$ which is convex if $r \in (-\infty, 0] \cup [1, \infty)$, and concave for $r \in [0, 1]$.

Assume that $r \in (-\infty, 0] \cup [1, \infty)$. Applying (2.1), we get

$$\left(\sum_{k=0}^{n} m_k x_k\right)^r \le \left(\sum_{k=0}^{n} m_k x_k^r\right) \times \left(\sum_{k=0}^{n} m_k\right)^{r-1}.$$
(2.4)

In another part, we have

$$\sum_{k=0}^{\infty} m_k = \sum_{k=0}^{\infty} B_p^{(\alpha,\beta)}(b+k,c-b) \frac{z_2^k}{k!} = B(b,c-b) \,_1 F_1^{(\alpha,\beta;p)}(b;c;z_2), \tag{2.5}$$

$$\sum_{k=0}^{\infty} m_k x_k = \sum_{k=0}^{\infty} B_p^{(\alpha,\beta)}(b+k,c-b) \frac{(z_1 z_2)^k}{k!} = B(b,c-b) \,_1 F_1^{(\alpha,\beta;p)}(b;c;z_1 z_2) \quad (2.6)$$

and

$$\sum_{k=0}^{\infty} m_k x_k^r = \sum_{k=0}^{\infty} B_p^{(\alpha,\beta)}(b+k,c-b) \frac{(z_1^r z_2)^k}{k!} = B(b,c-b) \, {}_1F_1^{(\alpha,\beta;p)}(b;c;z_1^r z_2).$$

Letting $n \to \infty$ in (2.4) and then substituting these three latter expressions in (2.4) we get the desired inequality. Taking p = 0 in (2.2), we obtain (2.3).

If $r \in [0,1]$, f is concave and Lemma 1 asserts that (2.2) and (2.3) should be reversed.

Note that, if $r \in [1,\infty)$ is integer then (2.2) is still valid for any $z_1 \in \mathbb{R}$. In another part, a simple mathematical induction shows that (2.2) can be generalized as recited in the following result.

Corollary 1. Let $\alpha > 0, \beta > 0, 0 < b < c, z_1 > 0$ and $z_2, z_3, \dots, z_n \in \mathbb{R}$. Then we have

$$\left({}_{1}F_{1}^{(\alpha,\beta;p)}\left(b;c;\prod_{i=1}^{n}z_{i}\right)\right)^{r} \leq {}_{1}F_{1}^{(\alpha,\beta;p)}\left(b;c;z_{1}^{r}\prod_{i=2}^{n}z_{i}\right) \times \left({}_{1}F_{1}^{(\alpha,\beta;p)}\left(b;c;\prod_{i=2}^{n}z_{i}\right)\right)^{r-1}$$
(2.7)

for any $r \in (-\infty, 0] \cup [1, \infty)$. In particular, we have

$$\left({}_{1}F_{1}\left(b;c;\prod_{i=1}^{n}z_{i}\right)\right)^{r} \leq {}_{1}F_{1}\left(b;c;z_{1}^{r}\prod_{i=2}^{n}z_{i}\right) \times \left({}_{1}F_{1}\left(b;c;\prod_{i=2}^{n}z_{i}\right)\right)^{r-1}.$$
(2.8)

If $r \in [0,1]$ then (2.7) and (2.8) are reversed.

It is worth mentioning that (2.7) and (2.8) can be reiterated many times as explained in the following example.

Example 1. Let r = 3 and $z_1, z_2, z_3 \in \mathbb{R}$. If we apply (2.7) two times, we get

$$\left({}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{1}z_{2}z_{3}) \right)^{3} \leq {}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{1}^{3}z_{2}z_{3}) \times \left({}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{2}z_{3}) \right)^{2} \\ \leq {}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{1}^{3}z_{2}z_{3}) \times {}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{2}^{2}z_{3}) \\ \times {}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{3}).$$

If moreover $0 \le z_1 \le 1$, $0 \le z_2 \le 1$ and $z_3 \ge 0$ then there holds

$$\left({}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{1}z_{2}z_{3}) \right)^{3} \leq {}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{1}z_{2}z_{3}) \times {}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{2}z_{3}) \\ \times {}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{3}).$$

Now, we state our second main result.

Theorem 2. Let $\alpha > 0, \beta > 0, a > 0, 0 < b < c, 0 < z_1 < 1$ and $|z_2| < 1$. Then the following inequality

$$\left({}_{2}F_{1}^{(\alpha,\beta;p)}(a,b;c;z_{1}z_{2})\right)^{r} \leq {}_{2}F_{1}^{(\alpha,\beta;p)}(a,b;c;z_{1}^{r}z_{2}) \times \left({}_{2}F_{1}^{(\alpha,\beta;p)}(a,b;c;z_{2})\right)^{r-1}$$
(2.9)

holds for any $r \in (-\infty, 0] \cup [1, \infty)$ *. In particular, we have*

$$\left({}_{2}F_{1}(a,b;c;z_{1}z_{2})\right)^{r} \leq {}_{2}F_{1}(a,b;c;z_{1}^{r}z_{2}) \times \left({}_{2}F_{1}(a,b;c;z_{2})\right)^{r-1}.$$
 (2.10)

If $r \in [0, 1]$ *then* (2.9) *and* (2.10) *are reversed.*

Proof. Here, we consider the following positive sequences,

$$x_k = z_1^k \text{ and } m_k = (a)_k B_p^{(\alpha,\beta)}(b+k,c-b) \frac{z_2^k}{k!}, \ k \ge 0,$$

with the same function $f(t) = t^r$, $t \in (0, \infty)$. The details are similar to those of the proof of Theorem 2 and therefore omitted here for the reader.

We also left to the reader the routine task for formulating analogous statements as those of Corollary 1 and Example 1 when ${}_{1}F_{1}(b;c;z)$ is replaced by ${}_{2}F_{1}(a,b;c;z)$. Otherwise, another main result is stated in the following.

Theorem 3. *Let* $\alpha > 0, \beta > 0, 0 < b < c$ *and* $z_1, z_2 > 0$ *. Then we have*

$$\frac{{}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{1}z_{2})}{{}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{2})} \ge \exp\left(\frac{b}{c}z_{2}(\log z_{1})\frac{{}_{1}F_{1}^{(\alpha,\beta;p)}(b+1;c+1;z_{2})}{{}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{2})}\right).$$
(2.11)

Proof. We also consider the following sequences

$$x_k = z_1^k \text{ and } m_k = B_p^{(\alpha,\beta)}(b+k,c-b)\frac{z_2^k}{k!}, \ k \ge 0$$

and the concave function defined on $(0, +\infty)$ by $f(t) = \log t$. Applying the reverse of (2.1), we get (after a simple manipulation)

$$\log\left(\sum_{k=0}^{n} m_k x_k\right) \ge \frac{\sum_{k=0}^{n} m_k \log x_k}{\sum_{k=0}^{n} m_k} + \log\left(\sum_{k=0}^{n} m_k\right).$$
(2.12)

In another part, we have

$$\sum_{k=0}^{\infty} m_k \log x_k = (\log z_1) \sum_{k=1}^{\infty} B_p^{(\alpha,\beta)}(b+k,c-b) \frac{z_2^k}{(k-1)!}$$
$$= z_2(\log z_1) \sum_{k=1}^{\infty} B_p^{(\alpha,\beta)}(b+k,c-b) \frac{z_2^{k-1}}{(k-1)!} = z_2(\log z_1) \sum_{k=0}^{\infty} B_p^{(\alpha,\beta)}(b+k+1,c-b) \frac{z_2^k}{k!}.$$

This, with (1.9) and the fact that $B(b+1, c-b) = \frac{b}{c}B(b, c-b)$, respectively yields

$$\sum_{k=0}^{\infty} m_k \log x_k = z_2(\log z_1)B(b+1,c-b) {}_1F_1^{(\alpha,\beta;p)}(b+1;c+1;z_2)$$
$$= \frac{b}{c} z_2(\log z_1)B(b,c-b) {}_1F_1^{(\alpha,\beta;p)}(b+1;c+1;z_2).$$
(2.13)

Letting $n \rightarrow \infty$ in (2.12) and then utilizing (2.5),(2.6) and (2.13), we get

$$\begin{split} &\log\left(B(b,c-b)\,_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{1}z_{2})\right) \\ &\geq \frac{b}{c}\frac{z_{2}(\log z_{1})\,_{1}F_{1}^{(\alpha,\beta;p)}(b+1;c+1;z_{2})}{_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{2})} + \log\left(B(b,c-b)\,_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{2})\right), \end{split}$$

which, after simple algebraic operations, is equivalent to (2.11).

From the previous theorem we can deduce the following result.

Corollary 2. Let
$$\alpha > 0, \beta > 0, 0 < b < c$$
 and $z_1, z_2, \dots, z_n > 0$. Then we have

$$\frac{{}_{1}F_1^{(\alpha,\beta;p)}(b;c;\prod_{i=1}^n z_i)}{{}_{1}F_1^{(\alpha,\beta;p)}(b;c;z_n)} \ge \prod_{i=1}^n \exp\left(\frac{b}{c}z_n(\log z_i)\frac{{}_{1}F_1^{(\alpha,\beta;p)}(b+1;c+1;z_n)}{{}_{1}F_1^{(\alpha,\beta;p)}(b;c;z_n)}\right). \quad (2.14)$$

Proof. According to (2.11) we have

$$\frac{{}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;\prod_{i=1}^{n}z_{i})}{{}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{n})} \ge \exp\left(\frac{b}{c}z_{n}\left(\log\prod_{i=1}^{n-1}z_{i}\right)\frac{{}_{1}F_{1}^{(\alpha,\beta;p)}(b+1;c+1;z_{n})}{{}_{1}F_{1}^{(\alpha,\beta;p)}(b;c;z_{n})}\right),$$

from which the desired inequality follows by simple elementary properties of logarithm and exponential. $\hfill \Box$

Remark 1. It is worth noting that inequalities similar to (2.11) can be established by considering logarithmic functions of different bases.

Finally, the following main result is also stated.

Theorem 4. Let $\alpha > 0, \beta > 0, a > 0, 0 < b < c$ and $0 < z_1, z_2 < 1$. Then we have

$$\frac{{}_{2}F_{1}^{(\alpha,\beta;p)}(a,b;c;z_{1}z_{2})}{{}_{2}F_{1}^{(\alpha,\beta;p)}(a,b;c;z_{2})} \ge \exp\left(\frac{ab}{c}z_{2}(\log z_{1})\frac{{}_{2}F_{1}^{(\alpha,\beta;p)}(a+1,b+1;c+1;z_{2})}{{}_{c}B(b,c-b){}_{2}F_{1}^{(\alpha,\beta;p)}(a,b;c;z_{2})}\right).$$
(2.15)

Proof. We consider here the following positive sequences

$$x_k = z_1^k \text{ and } m_k = (a)_k B_p^{(\alpha,\beta)}(b+k,c-b) \frac{z_2^k}{k!}, \ k \ge 0$$

and also the concave function $f(t) = \log t, t \in (0, \infty)$. The remainder of the proof is similar to that of the previous theorem and we therefore omitted here.

Remark 2. By similar way, we can deduce from (2.15) a generalized inequality analogous to (2.14). We left it to the reader.

3. CONCLUSION

In this paper, we focused on establishing some approximations for the generalized Gauss hypergeometric and the generalized confluent hypergeometric functions. Employing the discrete Jensen's inequality, several analytic inequalities involving these functions have been provided. Related to these inequalities, we consider that it will be interesting to study in a future work the following two subjects. The tightness of the bounds in the inequalities pointed out throughout this paper and their applications in studying the behavior of the evoked hypergeometric functions.

REFERENCES

- [1] M. Abramowitz and I. A. Stegun, *Handbook of mathematical functions with formulas, graphs, and mathematical tables.* US Government Printing Office, 1964, vol. 55.
- [2] M. A. Chaudhry, A. Qadir, H. M. Srivastava, and R. B. Paris, "Extended hypergeometric and confluent hypergeometric functions," *Applied Mathematics and Computation*, vol. 159, no. 2, pp. 589–602, 2004, doi: 10.1016/j.amc.2003.09.017.
- [3] M. A. Chaudhry and S. M. Zubair, "Generalized incomplete gamma functions with applications," *Journal of Computational and Applied Mathematics*, vol. 55, no. 1, pp. 99–124, 1994, doi: 10.1016/0377-0427(94)90187-2.
- [4] A. D. MacDonald, "Properties of the confluent hypergeometric function," J. Math. Physics, vol. 28, pp. 183–191, 1949.
- [5] D. Mitrinovic, J. Pecaric, and A. Fink, *Classical and new inequalities in analysis*. Kluwer Academic, Dordrecth, 1993.
- [6] E. Özergin, M. A. Özarslan, and A. Altın, "Extension of gamma, beta and hypergeometric functions," *Journal of Computational and Applied Mathematics*, vol. 235, no. 16, pp. 4601–4610, 2011, doi: 10.1016/j.cam.2010.04.019.
- [7] M. Raissouli and S. El-Soubhy, "On some generalizations of the beta function in several variables," *Turkish Journal of Mathematics*, vol. 45, no. 2, pp. 820–842, 2021, doi: 10.3906/mat-2010-57.
- [8] M. Raïssouli and S. I. El-Soubhy, "Some inequalities involving two generalized beta functions in n variables," *Journal of Inequalities and Applications*, vol. 2021, 91, 2021, doi: 10.1186/s13660-021-02625-8.

M. RAÏSSOULI AND M. CHERGUI

- [9] L. J. Slater, Generalized hypergeometric functions. Cambridge University Press, 1966.
- [10] H. Srivastava, R. Jain, and M. Bansal, "A study of the s-generalized gauss hypergeometric function and its associated integral transforms," *Turkish J. Anal. Number Theory*, vol. 3, no. 5, pp. 116–119, 2015, doi: 10.12691/tjant-3-5-1.

Authors' addresses

Mustapha Raïssouli

Science Faculty, Moulay Ismail University, Department of Mathematics, 50070 Meknes, Morocco *E-mail address:* raissouli.mustapha@gmail.com

Mohamed Chergui

(Corresponding author) CRMEF-RSK, EREAM Team, LaREAMI-Lab, Department of Mathematics, 14020 Kenitra, Morocco

E-mail address: chergui_m@yahoo.fr